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BINOMIAL THEOREM

Illustrative Examples

1. Find the number of integral terms in the expansion of 

Watch Video Solution

(5 + 7 )
1024

.
1
2

1
8

2. Expand the following by binomial theorem: 

Watch Video Solution

( + )
5

x

3

1

x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zr7pkUG1gMlO
https://dl.doubtnut.com/l/_stssmtbJkyFe


3. If the first three terms in the expansion of  are 

find 'n' and 'a'

Watch Video Solution

(1 + ax)n 1, 12x, 64x2,

4. If the third term in the expansion of  is 100, find x .

Watch Video Solution

( + xlog10 x)
5

1

x

5. Find a if 17th and 18th terms in the expansion of
 
are equal.

Watch Video Solution

(2 + a)
50

6. Using binomial theorem, find the value of  up to four places of

decimal.

Watch Video Solution

(0.99)
15

https://dl.doubtnut.com/l/_fRhWybkDVW6c
https://dl.doubtnut.com/l/_KmjLF0r4adAA
https://dl.doubtnut.com/l/_2vCIP19hheJJ
https://dl.doubtnut.com/l/_eEDBUtIn26gl


7. Using binomial theorem, prove that 

Watch Video Solution

(101)
50

> (10050 + 9950).

8. The  term from the end in  is

Watch Video Solution

(n + 1)th (x − )
3n1

x

9. If  is the rth term is the expansion of  , in ascending power of

a , prove that 

Watch Video Solution

tr (1 + a)n

r(r + 1)tr+2 = (n − r + 1)(n − r)a2tr

10. Evaluate : 

Watch Video Solution

10C1 + 10C2 + 10C3 + …. + 10C10

https://dl.doubtnut.com/l/_bhP8AGhwNnou
https://dl.doubtnut.com/l/_cudKKr0HoBcN
https://dl.doubtnut.com/l/_6yRj7K5WZWQb
https://dl.doubtnut.com/l/_hrADOyYhK4wa


11. Evaluate : 

Watch Video Solution

n

∑
r=1

nCr2
r

12. If  , prove that : 

Watch Video Solution

(1 + x)n = C0 + C1x + C2x
2 + ………. + Cnx

n

C0 + 2C1 + …. . + 2nCn = 3n

13. If  , prove that : 

Watch Video Solution

(1 + x)n = C0 + C1x + C2x
2 + ………. + Cnx

n

C0 + + + ……. + =
C1

2

C2

3

Cn

n + 1

2n+1 − 1

n + 1

14. Prove : 

Watch Video Solution

C0 + C2 + C4 + C6 + ………… =
1

3

1

5

1

7

2n

n + 1

https://dl.doubtnut.com/l/_zVV4QcDJYwxl
https://dl.doubtnut.com/l/_qPPLETNHk2Pw
https://dl.doubtnut.com/l/_sYhOl92LBwvJ
https://dl.doubtnut.com/l/_lfrVcvwxVBTh


15. 

Watch Video Solution

2C0 + 22 + 23 + ………. + 2n+1 =
C1

2
C2

3

Cn

n + 1

3n+1 − 1

n + 1

16. 

Watch Video Solution

2C0 + 5C1 + 8C2 + + (3n + 2)Cn = (3n + 4)2n−1

17. Prove that

Watch Video Solution

C0Cr + C − 1Cr+1 + C2Cr+2 + ............... + cn−rCn =
(2n) !

(n − r) !(n + r) !

18. Find the coefficient of  in the expansion of 

Watch Video Solution

x4 (1 + x)n ⋅ (1 − x)n

https://dl.doubtnut.com/l/_Bv8R0hVnBxtn
https://dl.doubtnut.com/l/_vwYQENq2MMeX
https://dl.doubtnut.com/l/_r9Ykc8qxU3Wv
https://dl.doubtnut.com/l/_vC0UfMzzT3gF


Frequently Asked Question

1. Determine the two middle terms in the expansion of 

View Text Solution

(x2 + a2)
5

2. Show that the middle term in the expansion of


is a positive integer.

Watch Video Solution

(1 + x)2nis 2nxn, wheren
(1. 3. 5(2n − 1))

n !

3. Show that the term containing to does not exist in the expansion of

Watch Video Solution

(3x − )
8

1

2x

https://dl.doubtnut.com/l/_AIYDvlCFjvKA
https://dl.doubtnut.com/l/_elGE4s9HsECH
https://dl.doubtnut.com/l/_jsq6vxo5FksB


4. The co-efficient of  in the expansion of 

 is

Watch Video Solution

x5

(1 + x)21 + (1 + x)22 + (1 + x)23 + .... . + (1 + x)30

5. Find the coefficient of in the expansion of .

Watch Video Solution

x6y3 (x + 2y)9

6. The sum of the coefficients of the first three terms in the expansion of

m being a natural number, is 559. Find the term of

the expansion containing .

Watch Video Solution

(x − )
m

, x ≠ 0,
3

x2

x3

7. The value of 
for which the coefficients of the 
th terms in

the expansion of 
are equal is
 
b. 
c. 
d. 8

m, (2m + 1)

(1 + x)10 3 1 5

https://dl.doubtnut.com/l/_6LGWw7qbSZGC
https://dl.doubtnut.com/l/_BIxIjQKQ3ptn
https://dl.doubtnut.com/l/_WePXfV6d9r2Z
https://dl.doubtnut.com/l/_CEknDJNblATi


Watch Video Solution

8. Find the term, which is independent of x in the expansion of 

Watch Video Solution

(x2 + )
9

1

x

9. Find the term of x in the following binomial expansions

Watch Video Solution

(x ≠ 0) :( 3√x + )

18
1

2. 3√x

10. The coefficient of the term independent of x in the 

expansion of 

Watch Video Solution

( − )
10

x + 1

x2 / 3 − x1 / 3 + 1

x − 1

x − x1 / 2

https://dl.doubtnut.com/l/_CEknDJNblATi
https://dl.doubtnut.com/l/_UZTfOrY79VEd
https://dl.doubtnut.com/l/_QVKtX6G5ngMj
https://dl.doubtnut.com/l/_MlJf0dFaiDGD


11. The second, third and fourth terms in the binomial expansion

are 240, 720 and 1080, respectively. Find x, a and n.

Watch Video Solution

(x + a)n

12. If the coefficients of 
 in the binomial expansion of 


are in A.P., prove that 

Watch Video Solution

ar−1,  arand ar+1

(1 + a)n n2 − on(4r + 1) + 4r2 − 2 = 0.

13. Find the greatest term in expansion of  , when x = 6, y = 3

Watch Video Solution

(3x + 4y)28

14. Show that 
-15n-16, where 
is divisible by 

Watch Video Solution

24n + 4 n ∈ N 225.

https://dl.doubtnut.com/l/_PmZeea9ciSYV
https://dl.doubtnut.com/l/_CVmYwyZFGYOq
https://dl.doubtnut.com/l/_RJioYrU6dxeO
https://dl.doubtnut.com/l/_ANr71npegdFb


Exercise 8 A Short Answer Type Question

1. Expand the following by binomial theorem: 

Watch Video Solution

(x + y)5

2. Find the 

Watch Video Solution

(3x − 2y)5

3. Expand the following by binomial theorem: 

Watch Video Solution

(1 − x)6

4. Expand the following: 

Watch Video Solution

(y2 + 3x)
8

https://dl.doubtnut.com/l/_QpT9biIEXYhk
https://dl.doubtnut.com/l/_BSPqkQllxwE3
https://dl.doubtnut.com/l/_fmKaTF1qMP1u
https://dl.doubtnut.com/l/_87v7zVM8Vt2f


5. Expand the following: 

Watch Video Solution

(x2 + 2y3)
6

6. 

Watch Video Solution

(x + )
6

1

x

7. find the 

Watch Video Solution

(x2 + )
4

, x ≠ 0
3

x

8. Find the 

Watch Video Solution

( − )
5

, x ≠ 0
2

x

x

2

https://dl.doubtnut.com/l/_87v7zVM8Vt2f
https://dl.doubtnut.com/l/_i8kDVUgnbDfu
https://dl.doubtnut.com/l/_ixIgcBKuEND8
https://dl.doubtnut.com/l/_nviRsupc5Qbf
https://dl.doubtnut.com/l/_CVTD2R80Yi2e
https://dl.doubtnut.com/l/_8Ghj5nRRgtDY


9. Expand: 

Watch Video Solution

(x − )
11

, y ≠ 0
1

y

10. Expand  using binomial expansion.

Watch Video Solution

(1 + x + x2)
3

11. Find the expansion of 
using binomial theorem.

Watch Video Solution

(3x2 − 2ax + 3a2)
3

12. Find the 

Watch Video Solution

(1 + − )
4

, x ≠ 0
x

2

2

x

13. Evalute: (√3 + √2)
6
− (√3 − √2)

6

https://dl.doubtnut.com/l/_8Ghj5nRRgtDY
https://dl.doubtnut.com/l/_Vi5K79KpdsfH
https://dl.doubtnut.com/l/_d5It8i46zBd1
https://dl.doubtnut.com/l/_UApaf15bgeP4
https://dl.doubtnut.com/l/_QgRmWO9SCSty


Watch Video Solution

14. Evalute: 

Watch Video Solution

(√3 + 1)
5
− (√3 − 1)

5

15. Use Binomial theorem to find : 

Watch Video Solution

(51)6

16. Using binomial theorem, evaluate : 

Watch Video Solution

(96)3

17. Using binomial theorem evaluate each of the following: 

Watch Video Solution

(98)65

https://dl.doubtnut.com/l/_QgRmWO9SCSty
https://dl.doubtnut.com/l/_5EsUCVAxMp5V
https://dl.doubtnut.com/l/_uSlEEx6ehiEe
https://dl.doubtnut.com/l/_5HyX405b1pDJ
https://dl.doubtnut.com/l/_8XvDqk5i3GCj
https://dl.doubtnut.com/l/_FPtwE5lv0LBi


18. Using binomial theorem, evaluate : 

Watch Video Solution

(99)5

19. Using binomial theorem, evaluate : 

Watch Video Solution

(101)4

20. Using binomial theorem, evaluate : 

Watch Video Solution

(102)5

21. Use Binomial theorem to find : 

View Text Solution

(10.1)4

22. Use Binomial theorem to find  , , correct to five decimal places.(1.02)6

https://dl.doubtnut.com/l/_FPtwE5lv0LBi
https://dl.doubtnut.com/l/_vKq2GXCD4cWr
https://dl.doubtnut.com/l/_cYPTMPX7M0zr
https://dl.doubtnut.com/l/_WehdY3ZKMX76
https://dl.doubtnut.com/l/_dh81ngT1ISZT


Watch Video Solution

23. Which is larger 

Watch Video Solution

(1. 01)100000  or ,  10, 000?

24. Find the third term in the expansion of 

Watch Video Solution

(x + y)
42

5

25. Find the fourth term in the expansion of 

Watch Video Solution

(x − 2y)12

26. Find the fourth term in the expansion of 

Watch Video Solution

( x − y2)
5

4
7

https://dl.doubtnut.com/l/_dh81ngT1ISZT
https://dl.doubtnut.com/l/_XPH6zm66NaQ8
https://dl.doubtnut.com/l/_EHzQaujgLFaA
https://dl.doubtnut.com/l/_SZMG4mNW9ciq
https://dl.doubtnut.com/l/_TfnBfIbAMftU


Exercise 8 A Long Answer Type Question

Watch Video Solution

27. Find the 13th term in the expansion of 
 Find the

middle terms in the expansions:

Watch Video Solution

(9x − )

18
1

3√x

1. Find the 5th term from the end of : 

View Text Solution

( − )
12

, x ≠ 0
x3

2
2

x2

2. Find the term from the end in the expansion of .

Watch Video Solution

rth (x + a)
n

https://dl.doubtnut.com/l/_TfnBfIbAMftU
https://dl.doubtnut.com/l/_e66yEFefei5f
https://dl.doubtnut.com/l/_hahIOBlRfjAD
https://dl.doubtnut.com/l/_PzrkipAgoClm
https://dl.doubtnut.com/l/_lKpycytclHNc


Exercise 8 B Long Answer Type Question I

3. If the third term in the expansion of 
 is 
then

find 

Watch Video Solution

( + x(log)10x)
51

x
1000,

x.

4. For what value of x is the ninth term in the expansion of

 is equal to 

Watch Video Solution

(3log3√25x− 1+7 + 3− log3 (5
x− 1+1 ))

101
8 180

5. Find . Hence or otherwise evaluate 

.

Watch Video Solution

(x + 1)6 + (x − 1)6

(√2 + 1)
6
+ (√2 − 1)

6

https://dl.doubtnut.com/l/_lKpycytclHNc
https://dl.doubtnut.com/l/_397vKGUR9rgM
https://dl.doubtnut.com/l/_tHMaopLkJj1j


1. Find the middle in the expansion of : 

(i)  


(ii) 

Watch Video Solution

( + 9y)
10x

3

( + )
2n+1

x

y

y

x

2. Show that the coefficient of the middle term in the expansion of

is equal to the sum of the coefficients of two middle terms in

the expansion of .

Watch Video Solution

(1 + x)
2n

(1 + x)
2n−1

3. Write and simplify the term involving  in the expansion of 

 .

View Text Solution

x5

(x − )
111

x

https://dl.doubtnut.com/l/_gGelxBfGZ5ij
https://dl.doubtnut.com/l/_uGNJ3uAG6cgR
https://dl.doubtnut.com/l/_lS58lrQvcp5p


4. Determine the term involving  in 

Watch Video Solution

x3 (5 − 2x)6

5. Find the coefficient of  in the expansion of  

Also , prove that there is no term involving 

View Text Solution

x10 (2x2 − )
11

, x ≠ 0
3

x

x6

6. Find the coefficient of  in the expansion of 

Watch Video Solution

x40 (1 + 2x + x2)
54

7. Which term contains  in the expansion of ? Also , find

its coefficient.

Watch Video Solution

x8 (x2 − )
101

x

https://dl.doubtnut.com/l/_UeIHCbTeTbpC
https://dl.doubtnut.com/l/_YyBUCqomOvee
https://dl.doubtnut.com/l/_eVd0ih2k95Xr
https://dl.doubtnut.com/l/_cqwePDgAlgI3


8. If the coefficients of  in the expansion of  are 

 then which one of the following is correct ?

Watch Video Solution

am and an (1 + a)m+n

α and β

9. Find a if the coefficient of  in the expansion of  are

equal

Watch Video Solution

x2 and x3 (3 + ax)9

10. Find the coefficient of in the product using

binomial theorem.

Watch Video Solution

a4 (1 + 2a)4(2 − a)5

11. In the binomial expansion of 
 , coefficients of the fourth and

thirteenth terms are equal to each
other. Find 
.

(a + b)n

n

https://dl.doubtnut.com/l/_olXwETtJRHQC
https://dl.doubtnut.com/l/_sBlNiUKsrJ75
https://dl.doubtnut.com/l/_2nXdxRPCRA5l
https://dl.doubtnut.com/l/_8jMAMEh4qrRy


Watch Video Solution

12. In the expansion of  , if the cofficient of 

 terms are equal , then find value of r.

Watch Video Solution

(1 + a)34

(r − 5)th and (2r − )th

13. Which term is independent of 'x' in the expansion of  ?

Also , find its value .

Watch Video Solution

(2x2 + )
12

1

x

14. Write and simplify the term independent of 'x' in the expansion of

 . Also find its value .

Watch Video Solution

(x2 − )
52

x3

https://dl.doubtnut.com/l/_8jMAMEh4qrRy
https://dl.doubtnut.com/l/_X0u40pedWThW
https://dl.doubtnut.com/l/_m2Nj51JqYeEc
https://dl.doubtnut.com/l/_kFneUFEiM8sL


15. Find the term independent of 
in the expansion of: 
.

Watch Video Solution

x (x − )
12

1

x

16. Find the term independent of x in the expression 

Watch Video Solution

(x − )
14

1

x

17. Find the term independent of x in the expansion of .

Watch Video Solution

( x2 − )
63

2

1

3x

18. Find the term independent of 'x' ,  in the expansion of

Watch Video Solution

x ≠ 0

(x2 + )
6

3

x

https://dl.doubtnut.com/l/_VTlyzVh3R2Go
https://dl.doubtnut.com/l/_ITGEymNgp6bZ
https://dl.doubtnut.com/l/_qwbMcv3VNqr6
https://dl.doubtnut.com/l/_7GHsTACxfD0y
https://dl.doubtnut.com/l/_kVzM9bedId5q


19. Find the term independent of 'x' ,  in the expansion of

View Text Solution

x ≠ 0

(3 − )
7

x3

6

20. Write and simplify the coefficient of the term independent of 'x' in the

expansion of 

View Text Solution

(x3 − )
12

, x ≠ 0
1

x

21. Find the greatest term in  when 

Watch Video Solution

(x + y)n, x = 11, y = 4, n = 30

22. If 
find the greatest tem in the expansion of 

Watch Video Solution

x = 1/3, (1 + 4x)8.

https://dl.doubtnut.com/l/_kVzM9bedId5q
https://dl.doubtnut.com/l/_LqxPoahbW6Ml
https://dl.doubtnut.com/l/_AxhSlph13HmC
https://dl.doubtnut.com/l/_nOi41kaqEFa5
https://dl.doubtnut.com/l/_oZCLQ5PswBqC


23. Find a, b and n in the expansion of if the first three terms of

the expansion are 729, 7290 and 30375, respectively.

Watch Video Solution

(a + b)n

24. The first three terms in the Binomial expansion of  are 1,56

and 1372 respectively . Find the value of x and y

Watch Video Solution

(x + y)n

25. The coefficients of three consecutive terms in the expansion of

are in the ratio 1: 7 : 42. Find n.

Watch Video Solution

(1 + a)n

26. The coefficient of 5th, 6th and 7th terms in the expansion of 

are in A.P. Find the value of n.

W t h Vid S l ti

(1 + x)n

https://dl.doubtnut.com/l/_oZCLQ5PswBqC
https://dl.doubtnut.com/l/_Qrl0OE9CE8mM
https://dl.doubtnut.com/l/_QfjnYiR33tbc
https://dl.doubtnut.com/l/_AR9hkkOTWR9e


Watch Video Solution

27. if the coefficients of  in the binomial expansion 

 are in arithmetic progression then prove that 

Watch Video Solution

x, x2 and x3

(1 + x)2n

2n2 − 9n + 7 = 0

28. If the three consecutive in the expansion of 
 are 28, 56, and

70, then the value of 
is.

Watch Video Solution

(1 + x)n

n

29. In the expansion of 
 if the sum of odd terms is 
 and the

sum of even terms is 
 tehn





none of these

Watch Video Solution

(x + a)n P

Q, P 2 − Q2 = (x2 − a2)
n

4PQ = (x + a)2n − (x − a)2n 2(P 2 + Q2) = (x + a)2n + (x − a)2n

https://dl.doubtnut.com/l/_AR9hkkOTWR9e
https://dl.doubtnut.com/l/_3VkGxrF6YaLd
https://dl.doubtnut.com/l/_ZfIulQ0AMrs7
https://dl.doubtnut.com/l/_3ftjb1eI2FmO


Objective Type Question A Multiple From Ncert Exemplar Questions From

Ncert Exemplar

30. Show that 
 is divisible by 64, where 
 is a positive

integer.

Watch Video Solution

9n+1 − 8n − 9 n

31. Using binomial theorem, prove that 
 always leaves he

remainder 1 when divided by 25.

Watch Video Solution

6n − 5n

1. The total number of terms in the expansion of 

after simplification is :

A. 102

(x + a)51 − (x − a)51

https://dl.doubtnut.com/l/_3ftjb1eI2FmO
https://dl.doubtnut.com/l/_dZigEsj1163v
https://dl.doubtnut.com/l/_g6IOQEppGusI
https://dl.doubtnut.com/l/_WDYG4VZSoDYU


B. 23

C. 26

D. none of these

Answer: C

Watch Video Solution

2. If the coefficients of  in the expansion of  are

equal, then the value of n is :

A. 56

B. 55

C. 45

D. 15

Answer: B

Watch Video Solution

x7 and x8 [2 + ]
nx

3

https://dl.doubtnut.com/l/_WDYG4VZSoDYU
https://dl.doubtnut.com/l/_PafkuuXiZ755


3. The coefficient of  in the expansion of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x4 (1 + x + x2 + x3)
n

3n + 1
2

3n − 1
2

1 − 3n

2

3n +
1

2

4. If the coefficients of  and  are equal in the expansion of 

. then the possible values of p and q are

A. equal

B. equal with opposite sign

C. reciprocal of each other

x39 x40

(p + qx)49

https://dl.doubtnut.com/l/_PafkuuXiZ755
https://dl.doubtnut.com/l/_7asoh6liSw5x
https://dl.doubtnut.com/l/_ilNf5AciIXXg


D. none of these

Answer: A

Watch Video Solution

5. The number of terms in the expansion of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(a + b + c)n, wheren ∈ N.

(n + 1)(n + 2)

2

n + 1

n + 2

(n + 1)n

https://dl.doubtnut.com/l/_ilNf5AciIXXg
https://dl.doubtnut.com/l/_vP8BDx16mSzP


6. The ratio of the coefficient of  to the term independent of x in the

expansion of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x15

(X2 + )
15

2

x

12: 32

1: 32

32: 12

32: 1

7. If , then

A. Re (z) = 0

B. Im (z) = 0

C. Re (z) gt 0 , Im (z) gt 0

z = ( + )

5

+ ( − )

5
√3

2

i

2

√3

2

i

2

https://dl.doubtnut.com/l/_E0DiOfYLA3D1
https://dl.doubtnut.com/l/_JiZV64U5wXfS


Objective Type Question A Multiple From Ncert Exemplar For Board

Examination

D. Re (z) gt 0 , Im (z) lt 0

Answer: B

Watch Video Solution

1. The number of terms in the expansion of  after

simplification

A. 50

B. 51

C. 202

D. none of these

Answer: B

Watch Video Solution

(x + a)100 + (x − a)100

https://dl.doubtnut.com/l/_JiZV64U5wXfS
https://dl.doubtnut.com/l/_mqsDtOtH3fnb


2. The coefficient of  in the expansion of

 is

A. 342

B. 

C. 

D. 

Answer: B

Watch Video Solution

x17

(x − 1)(x − 2)(x − 3) − − − − − − − (x − 18)

−171

171
2

648

3. In the expansion of  the coefficient of  and  terms

are respectively p and q. Then 

A. 

B. 

(1 + x)n pth (p + 1)th

p + q =

Sp ≠ Sq

Sp = Sq

p

q

https://dl.doubtnut.com/l/_mqsDtOtH3fnb
https://dl.doubtnut.com/l/_RIQHJlEeZqLf
https://dl.doubtnut.com/l/_9giUu9fPuY1W


C. 

D. 

Answer: D

Watch Video Solution

Sp = Sq

q

p

Sp = Sq

4. The coefficient of  in the expansion of ,is

A. 18

B. 6

C. 12

D. none of these

Answer: A

Watch Video Solution

x5 (x + 3)6

https://dl.doubtnut.com/l/_9giUu9fPuY1W
https://dl.doubtnut.com/l/_lnsm1MNPO9G1


5. The middle term in the expansioin of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 + x)2n

xn
(2n) !

n !

xn+1(2n) !

n !(n − 1) !

xn
(2n) !

(n !)2

xn
(2n) !

(n + 1) !(n − 1) !

6. The term independent of x in  is

A. 

B. 

C. 

D. 

(2x − )
6

1

3x

160

9

80

9

160

27

80

3

https://dl.doubtnut.com/l/_hPG7Y0uc5qRJ
https://dl.doubtnut.com/l/_4Cl4oMc6HBjS


Answer: C

Watch Video Solution

7. The fourth term in the binomial expansion of  is

independent of x , when n is equal to

A. 2

B. 3

C. 4

D. none of these

Answer: D

Watch Video Solution

(x2 − )
n1

x3

8. If the coefficients of 5th, 6th, 7th terms of  are in A.P. then (1 + x)n

n =

https://dl.doubtnut.com/l/_4Cl4oMc6HBjS
https://dl.doubtnut.com/l/_NcI6ukqhF7jr
https://dl.doubtnut.com/l/_W0FrhObhITOT


Objective Type Question A Multiple From Ncert Exemplar Additional

Question

A. 7

B. 5

C. 3

D. 10

Answer: D

Watch Video Solution

1. The total number of terms in the expansion of 

after simplification is :

A. 24

B. 96

C. 47

(x + a)47 − (x − a)47

https://dl.doubtnut.com/l/_W0FrhObhITOT
https://dl.doubtnut.com/l/_qExMp1AwW6zg


D. 48

Answer: A

Watch Video Solution

2. Let . Then

A. 

B.  is even

C.  is divisible by 9

D.  is divisible by 3 but not by 9 .

Answer: B

Watch Video Solution

(1 + x + x2)
9
= a0 + a1x + a2x

2 + .... . + a18x
18

a0 + a2 + …………. + a18 = a1 + a3 + ………. . + a17

a0 + a2 + ……… + a18

a0 + a2 + ………. + a18

a0 + a2 + ………… + a18

3. The coefficient of  in the expansion of  isx5 (1 + x2)
5
(1 + x)4

https://dl.doubtnut.com/l/_qExMp1AwW6zg
https://dl.doubtnut.com/l/_iUDFknIJppNu
https://dl.doubtnut.com/l/_gv0nz3UBUXuZ


A. 30

B. 60

C. 40

D. 10

Answer: B

Watch Video Solution

4. If in the expansion of N, the coefficient of x 

and  are 8 and 24 respectively, then

A. n = 3 , p = 2

B. n = 5, p = 3

C. n = 4, p = 3

D. n = 4, p = 2

Answer: D

(1 + ax)n, n ∈

x2

https://dl.doubtnut.com/l/_gv0nz3UBUXuZ
https://dl.doubtnut.com/l/_6UgChjV6ISkl


Watch Video Solution

5. The middle term in the expansion of  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( + )
10

10

x

x

10

7C5

8C5

9C5

10C5

6. The middle term in the expansion of  is :

A. 

B. 

( + )
1010

x

x

10

10C5

10C6

https://dl.doubtnut.com/l/_6UgChjV6ISkl
https://dl.doubtnut.com/l/_PrJpYgglmncc
https://dl.doubtnut.com/l/_cI6zVSu2gczH


C. 

D. 

Answer: A

View Text Solution

10C5
1

x10

10C5x
10

7. If  find coeff. of  and 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = (x − 1)(x − 2)(x − 3)....... (x − 50) x50

x49

−2250

−1275

1275

2250

https://dl.doubtnut.com/l/_cI6zVSu2gczH
https://dl.doubtnut.com/l/_89Dm4ltCroKL
https://dl.doubtnut.com/l/_VWOoyKIh0Fmt


8. The sum of the coefficients in the binomial expansion of  is

equal to :

A. 1024

B. 729

C. 243

D. 512

Answer: B

Watch Video Solution

( + 2x)
6

1

x

9. If the coefficient of  in  is equal to the coefficient of 

 in  , then a and b will satisfy the relation :

A. ab+1=0

B. ab=1

C. a=1-b

x8 (ax2 + )
131

bx

x−8 (ax − )
13

1

bx2

https://dl.doubtnut.com/l/_VWOoyKIh0Fmt
https://dl.doubtnut.com/l/_o5IEUvG5M69v


Objective Type Question B Fill In The Blanks

D. a+b=-1

Answer: A

Watch Video Solution

10. If the 21st and 22nd terms in the expansion of  are equal

then x is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 + x)44

8

7

21

22

7
8

23

24

https://dl.doubtnut.com/l/_o5IEUvG5M69v
https://dl.doubtnut.com/l/_YnJSKqT57SeU


1. The number of terms in the expansion of  is

………….

View Text Solution

[(2x + y)8 − (2x − y)8]

2. Expand using binomial theorem  = ………..

Watch Video Solution

(4x − 5y)5

3. Expand using binomial theorem  = ………..

Watch Video Solution

(x + )
2

(x ≠ 0)
1

x

4. General term of  is ……….

Watch Video Solution

(1 − x2)
12

https://dl.doubtnut.com/l/_wPUqFMXurs40
https://dl.doubtnut.com/l/_JHXwiKEDpRGZ
https://dl.doubtnut.com/l/_FYxv6FhBRfox
https://dl.doubtnut.com/l/_MVX6ZdWFwg48


5. The value of  is ………..

Watch Video Solution

(√3 + √2)
3
+ (√3 − √2)

3

6. Third term in the expansion of  is ………..

Watch Video Solution

(3x − )
y3

6

7. Find the 4th term from the end in the expansion of 

Watch Video Solution

( − )
9

.
4x
5

5

2x

8. The middle term in the expansioin of  is

Watch Video Solution

(1 + x)2n

https://dl.doubtnut.com/l/_raQhh4LvIsSN
https://dl.doubtnut.com/l/_j5DzCS6XKVF0
https://dl.doubtnut.com/l/_gCeEHAcKHH1n
https://dl.doubtnut.com/l/_sgbOZgE8TeCz


Objective Type Question C True False Question

9. If  term in the expansion of  is independent of , then 

is equal to

Watch Video Solution

rth (x2 + )
12

1

x
x r

10. If the coefficients of  and  terms in the expansion

of  are equal.Find  ?

Watch Video Solution

(2r + 4)th (r − 2)th

(1 + x)
18

r

1. The number of terms in the expansion of  is 40

Watch Video Solution

(1 + 2x + x2)
20

2. Value of , using binomial theorem is 10406.0401(10.1)
4

https://dl.doubtnut.com/l/_YoDPCeuZpj8Q
https://dl.doubtnut.com/l/_wQrLnZln74nz
https://dl.doubtnut.com/l/_XKcyvaa80wto
https://dl.doubtnut.com/l/_T9dEXRRVqCi3


Objective Type Question D Very Short Answer Type Question

Watch Video Solution

3. Middle term of  is 6

Watch Video Solution

(x + )
4

1

x

4. The coefficient of the term involving  in the expansion of 

 is 1210

Watch Video Solution

x2

(3x − )
61

x

5. Theorem 3 ( Total number of subset of a finite set containing n

elements is )

Watch Video Solution

2n

https://dl.doubtnut.com/l/_T9dEXRRVqCi3
https://dl.doubtnut.com/l/_76TIl3MNIbBN
https://dl.doubtnut.com/l/_lcTWsAkYytU7
https://dl.doubtnut.com/l/_FDz2UWVK5ECc


1. Find the number of terms in the expansion of 

Watch Video Solution

( + )
8

2

p

p

2

2. Find the number of terms in the expansion of 

Watch Video Solution

(x2 − y)
16

3. Find the number of terms in the expansions of the following:

Watch Video Solution

(√x + √y)
10

+ (√x − √y)
10

4. Expand 

Watch Video Solution

(x2 − y)
7

https://dl.doubtnut.com/l/_XqEnVwwnY2kl
https://dl.doubtnut.com/l/_9La1Kywmt1C1
https://dl.doubtnut.com/l/_ucSy11u1hcyE
https://dl.doubtnut.com/l/_kwj59bcpKKEv


5. Expand 

Watch Video Solution

(2x − 3x2)
5

6. Expand 

View Text Solution

(1 − x2)
4

7. Write the general term in the following expansion:

Watch Video Solution

(x2 − )
12

, x ≠ 0
1

x

8. Find the middle term is the expansion of : 

Watch Video Solution

(2x2 − )
101

3x2

https://dl.doubtnut.com/l/_5rudaJoWpHTY
https://dl.doubtnut.com/l/_AYln6K5R3HE5
https://dl.doubtnut.com/l/_ijZmZJIoXy6W
https://dl.doubtnut.com/l/_ojDDfMD4lNvt
https://dl.doubtnut.com/l/_A4ahfqVtwzSK


9. Find the middle is the expansion of : 

Watch Video Solution

( a + b)
8

1
2

1

3

10. Find the middle term in the expansion of 

Watch Video Solution

(2x + )
203

x

11. Find the coefficient of the term invloving  in the expansion of 

View Text Solution

x10

(x2 − 2)
11

12. Evaluate the 

View Text Solution

12C0 + 12C1 + 12C2 + ……. . + 12C12

https://dl.doubtnut.com/l/_A4ahfqVtwzSK
https://dl.doubtnut.com/l/_xvImvagheas4
https://dl.doubtnut.com/l/_6mnNdS54dKVE
https://dl.doubtnut.com/l/_olS4npumU2WS


13. Evaluate the 

Watch Video Solution

12C0 + 12C2 + 12C4 + …………. + 12C12

14. Evaluate the 

Watch Video Solution

16C1 + 16C3 + 16C5 + …………. . + 16C15

15. If  , find the

value of 

Watch Video Solution

(1 + x)n = C0 + C1x + C2x
2 + ………… + Cnx

n

C0 − 2C1 + 3C2 − ………. + ( − 1)n(n + 1)Cn

16. Evaluate 

Watch Video Solution

n

∑
r=0

3rnCr

https://dl.doubtnut.com/l/_CrQunjO6KH9R
https://dl.doubtnut.com/l/_G05HzYkrUWop
https://dl.doubtnut.com/l/_yTqPUaddE9UT
https://dl.doubtnut.com/l/_QHLUP8vwVfK7


Exercise 8 1

1. Expand of the expression : 

Watch Video Solution

(1 − 2x)5

2. Expand of the expression : 

Watch Video Solution

( − )
5

2

5

x

2

3. Expand of the expression : 

Watch Video Solution

(2x − 3)
6

4. Expand of the expression : 

Watch Video Solution

( + )
5

x

3

1

x

https://dl.doubtnut.com/l/_6OrjcidAWEKm
https://dl.doubtnut.com/l/_DX6eSCTNeu8n
https://dl.doubtnut.com/l/_64hspcSRETx2
https://dl.doubtnut.com/l/_S2wmdkPozoW7
https://dl.doubtnut.com/l/_iX4K6iFv9sne


5. Expand of the expression : 

Watch Video Solution

(x + )
6

1

x

6. Using binomial theorem, evaluate each of the following: 

Watch Video Solution

(96)
3
, (102)

5

7. Using binomial theorem evaluate each of the following: 

Watch Video Solution

(102)
5

8. Using binomial theorem evaluate each of the following: 

Watch Video Solution

(101)
4

9. Using binomial theorem evaluate each of the following: (101)4

https://dl.doubtnut.com/l/_iX4K6iFv9sne
https://dl.doubtnut.com/l/_SvqJX9PcCuZL
https://dl.doubtnut.com/l/_07w5gfoZHnwy
https://dl.doubtnut.com/l/_I7cvD5vlxxVY
https://dl.doubtnut.com/l/_Lo5fYUbNrgr3


Watch Video Solution

10. Using binomial theorem, indicate which number is larger or

1000.

Watch Video Solution

(1. 1)10000

11. Find . Hence, evaluate 

.

Watch Video Solution

(a + b)4 − (a − b)4

(√3 + √2)
4
− (√3 − √2)

4

12. Find 
 hence, or otherwise evaluate 

Watch Video Solution

(x + 1)6 + (x − 1)6.

(√2 + 1)
6
+ (√2 − 1)

6

https://dl.doubtnut.com/l/_Lo5fYUbNrgr3
https://dl.doubtnut.com/l/_qj5chI4Y4MGJ
https://dl.doubtnut.com/l/_APbQgWUZeqbs
https://dl.doubtnut.com/l/_6zJQDOTwOGiS


Exercise 8 2

13. Show that 
 is divisible by 64, where 
 is a positive

integer.

Watch Video Solution

9n+1 − 8n − 9 n

14. Prove that .

Watch Video Solution

n

∑
r=0

3r ^ nCr = 4n

1. Find the coefficient of 

Watch Video Solution

x5 ∈ (x + 3)8

2. Find the coefficient of 

Watch Video Solution

a5b7 ∈ (a − 2b)12

https://dl.doubtnut.com/l/_2IDqCt9LB5HY
https://dl.doubtnut.com/l/_dxEQe4RSvWM0
https://dl.doubtnut.com/l/_KG0BH1LjjkKV
https://dl.doubtnut.com/l/_9QL1SoXKL6uS


3. Write the general term in the expansion of 

Watch Video Solution

(x2 − y)
6

4. Write the general term in the expansion of 

Watch Video Solution

(x2 − yx)
12
, x ≠ 0

5. Find middle term in the expansion of  .

Watch Video Solution

(x − 2y)8

6. Find the term in the expansion of 

Watch Video Solution

13th (9x − )

18

, x ≠ 0
1

3√x

https://dl.doubtnut.com/l/_9QL1SoXKL6uS
https://dl.doubtnut.com/l/_Ug5t6I3ZrB4A
https://dl.doubtnut.com/l/_9kSH4hzRnoUI
https://dl.doubtnut.com/l/_Isg4xJN1npCZ
https://dl.doubtnut.com/l/_42aPaIRIGSbR
https://dl.doubtnut.com/l/_fGUOswtOeqhv


7. 

Watch Video Solution

(3 − )
7

x3

6

8. Find the middle term in the expansion of :

Watch Video Solution

 ( + 9y)
10x

3

9. In the binomial expansion of 
, prove that the coefficient of 


are equal.

Watch Video Solution

(1 + a)m+n

amand an

10. The coefficients of 
 terms in the

expansion of 
are in the ratio 1:3:5. Find 

Watch Video Solution

(r − 1)th,  rth and (r + 1)th

(x + 1)n n and r.

https://dl.doubtnut.com/l/_fGUOswtOeqhv
https://dl.doubtnut.com/l/_aHLwPvGCz1fX
https://dl.doubtnut.com/l/_n23HdsX2LEeo
https://dl.doubtnut.com/l/_lRmOldmfHOJS
https://dl.doubtnut.com/l/_onZ1oIbC7OGd


Miscellaneous Exercise

11. prove that the coefficient of  in the expansion of  is twice

the coefficient of  in the expansion of 

Watch Video Solution

xn (1 + x)2n

xn (1 + x)2n−1

12. Find a positive value of 
 for which the coefficient of 
 in the

expansion f 
is 6.

Watch Video Solution

m x2

(1 + x)m

1. Find a, b and n in the expansion of if the first three terms of

the expansion are 729, 7290 and 30375, respectively.

Watch Video Solution

(a + b)n

https://dl.doubtnut.com/l/_onZ1oIbC7OGd
https://dl.doubtnut.com/l/_aZqGvsh7Cq6d
https://dl.doubtnut.com/l/_EImZNkV4eRvX


2. Find a if the coefficient of  in the expansion of  are

equal

Watch Video Solution

x2 and x3 (3 + ax)9

3. Find the coefficient of 
 in the expansioin of the product 

Watch Video Solution

x5

(1 + 2x)6(1 − x)7.

4. If a and b are distinct integers then prove that (a-b) is a factor of

, whenever n is a positive integar.

Watch Video Solution

(an − bn)

5. Evalute: 

Watch Video Solution

(√3 + √2)
6
− (√3 − √2)

6

https://dl.doubtnut.com/l/_3esz2ysN8ieW
https://dl.doubtnut.com/l/_kpAEtxDVup5j
https://dl.doubtnut.com/l/_YD8o1llb7NBS
https://dl.doubtnut.com/l/_FBp6Gx1apfw4


6. Find the value of .

Watch Video Solution

(a2 + √a2 − 1)
4
+ (a2 − √a2 − 1)

4

7. Find an approximation of 
 using the first three terms of its

expansion.

Watch Video Solution

(0. 99)5

8. Find n, if the ratio of the fifth term from the
beginning to the fifth term

from the end in the expansion of 
is 
.

Watch Video Solution

(24 + )
n1

34
√6: 1

9. Expand using Binomial Theorem 

Watch Video Solution

(1 + − )
4

, x ≠ 0.
x

2

2

x

https://dl.doubtnut.com/l/_FBp6Gx1apfw4
https://dl.doubtnut.com/l/_D9sPCdpBJr5T
https://dl.doubtnut.com/l/_jZS6GqHfdUdO
https://dl.doubtnut.com/l/_riWZFkAM72DP
https://dl.doubtnut.com/l/_Chaj8nNmtpSs


Questions From Ncert Exemplar

10. Find the expansion of 
using binomial theorem.

Watch Video Solution

(3x2 − 2ax + 3a2)
3

1. Evaluate 

Watch Video Solution

(x2 − √1 − x2)
4

+ (x2 + √1 − x2)
4

2. Determine whether the expansion of  will contain a term

containing  ?

Watch Video Solution

(x2 − )
182

x

x10

https://dl.doubtnut.com/l/_Chaj8nNmtpSs
https://dl.doubtnut.com/l/_vsEaxTSOuzDX
https://dl.doubtnut.com/l/_M2JMtB9nuBuS
https://dl.doubtnut.com/l/_DeGSSIHt1pmt


Exercise

3. find the term independent of  in the expansion of 

Watch Video Solution

x ( + )

10
√x

√3

√3

2x2

4. Find the middle term in the expansion of : 

Watch Video Solution

( + )
9

p

x

x

p

5. If 
is a positive integer, find the coefficient of 
in the expansion of 

Watch Video Solution

n x−1

(1 + x)n(1 + )
n

.
1

x

https://dl.doubtnut.com/l/_ga9TozufHhmq
https://dl.doubtnut.com/l/_XcHEEaMSlrk6
https://dl.doubtnut.com/l/_xurPDWAuVYZW


1. Find the term independent of x, where , in the expansion of 

.

Watch Video Solution

x = !0

( − )
15

3x2

2

1

3x

2. If the constant terms in the expansion of  is 405 then 

Watch Video Solution

(√x − )
10

k

x2

|k| =

3. Find the middle term in the expansion of : 

Watch Video Solution

( − )
10x

a

a

x

4. Find the middle term in the expansion of 

Watch Video Solution

(3x − )
9

x3

6

https://dl.doubtnut.com/l/_Rrm6B76hAXOx
https://dl.doubtnut.com/l/_RA2z68mKGHX9
https://dl.doubtnut.com/l/_kXfiXcN9WISa
https://dl.doubtnut.com/l/_nWdyvsc6oZlI


5. The coefficient of  in the expansion of  is

Watch Video Solution

x−17 (x4 − )
15

1

x3

6. Find the sixth term in the expansion 
 , if the binomial

coefficient of the third term of the end is 

Watch Video Solution

(y + x )
n1

2
1
3

45.

7. If the middle term in the expansion of  is 1120, find p.

Watch Video Solution

( + 2)
8p

2

8. Prove that the middle term in the expansion of  is (1.3.5…

(2n-1)/(n!).2^n`

Watch Video Solution

(x + )
2

n
1

x

https://dl.doubtnut.com/l/_6vYQX348QX4g
https://dl.doubtnut.com/l/_EU6MFn0XOfOQ
https://dl.doubtnut.com/l/_VWs3IWe1iuKA
https://dl.doubtnut.com/l/_P6lU127PsQQ6


Revision Exercise

9. In 
 if the ratio of 7th term from the beginning to the 7th

term from the
end is 1/6, then find the value of 

Watch Video Solution

(33 + )
n1

33

n.

1. Write and simplify the term involving  in 

View Text Solution

a2b5 (a − 2b)4(a + b)3

2. Expand using Binomial Theorem 

Watch Video Solution

(1 + − )
4

, x ≠ 0.
x

2

2

x

3. Find an approximation of 
 using the first three terms of its

expansion.

(0. 99)5

https://dl.doubtnut.com/l/_PqoWYbQ9AVH3
https://dl.doubtnut.com/l/_bxIBws34CKLT
https://dl.doubtnut.com/l/_1Nsn5JNOOlzk
https://dl.doubtnut.com/l/_5nLiLGuIN0Uc


Watch Video Solution

4. If 6th , 7th , 8th, and 9th terms of  are a,b,c and d respectively ,

then prove that : 

Watch Video Solution

(x + y)n

= .
b2 − ac

c2 − bd

4
3

a

c

5. Find the coefficient of  in the expansion of 

 .

View Text Solution

x10

(1 + x + x2 + x3 + …… + x10)
4

6. If  is the coefficient of  in the expansion of  , in

ascending powers of y , determine 'r' when 

Watch Video Solution

kr yr−1 (1 + 2y)
10

= 4
kr+2

kr

https://dl.doubtnut.com/l/_5nLiLGuIN0Uc
https://dl.doubtnut.com/l/_ElmrhcTfVrHo
https://dl.doubtnut.com/l/_iwbZSSkbJAW9
https://dl.doubtnut.com/l/_wIlWHdaVCQ6J
https://dl.doubtnut.com/l/_nDKLdJLWF0jU


7. If 
 occurs in the expansion of 
 , prove that its

coefficient is
 
.

Watch Video Solution

xp (x2 + 1/x)
2n

(2n) !

[ (4n − p)] ![ (2n + p)] !1
3

1
3

8. Determine the term independent of 'x' in the expansion of

Watch Video Solution

(1 + x + x−2 + x−3)
10

9. Find the value of .

Watch Video Solution

(a2 + √a2 − 1)
4
+ (a2 − √a2 − 1)

4

10. If the fourth term in the expansion of 
 is

equal to 
then find 

Watch Video Solution

⎧
⎨⎩√ +

1

x log
x+1

1

_ x12

200andx > 1, x.

https://dl.doubtnut.com/l/_nDKLdJLWF0jU
https://dl.doubtnut.com/l/_dTfVegQktI1E
https://dl.doubtnut.com/l/_UiBOzuAku0QA
https://dl.doubtnut.com/l/_GDHIcocd3WxH


Watch Video Solution

11. The sixth term in the expansion of

 is equal to 21, if it is known that the

binomial coefficient of the 2nd 3rd and 4th terms in the expansion

represent, respectively, the first, third and fifth terms of an A.P. (the

symbol log stands for logarithm to the base 10) The value of m is

Watch Video Solution

(√2log ( 10−3x ) + (2 ( x−2 ) log 3) )
m1

5

12. If  are the coefficients of any consecutive terms in the

expansion of  , prove that : 

Watch Video Solution

C1, C2, C3, C4

(1 + x)n

+ =
C1

C1 + C2

C3

C3 + C4

2C2

C2 + C3

13. If

(1 + x)n = C0 + C1x + C2x2 + + Cnx
n, thenC0 − (C0 + C1 + )(C0 + C

https://dl.doubtnut.com/l/_GDHIcocd3WxH
https://dl.doubtnut.com/l/_V14P3s9o2Iy8
https://dl.doubtnut.com/l/_Ao2utFTIGuNC
https://dl.doubtnut.com/l/_lRlR8x0ooeb2


Check Your Understanding

is even integer is
 a positive value
 a negative value
 divisible by

divisible by

Watch Video Solution

2n−1

2n

14. Find the coefficients of 
 in the expression 


.

Watch Video Solution

x50

(1 + x)1000 + 2x(1 + x)999 + 3x2(1 + x)998 + + 1001x1000

1. Derive Binomial theorem

Watch Video Solution

2. In the expansion of = __________

Watch Video Solution

(x + y)n, Tr+1

https://dl.doubtnut.com/l/_lRlR8x0ooeb2
https://dl.doubtnut.com/l/_34OlVDGCeTJf
https://dl.doubtnut.com/l/_1CIYgHOFX1YI
https://dl.doubtnut.com/l/_QFWx6miggw6z


3. What is the number of term in the expansion of

 ?

Watch Video Solution

[(2x + y)8 − (2x − y)8]

4. Find the middle term in the expansion of 

Watch Video Solution

(x + )
41

x

5. 

Watch Video Solution

(3 − )
7

x3

6

6. Find the coefficient of  in 

Watch Video Solution

x5 (x + 3)6

https://dl.doubtnut.com/l/_QFWx6miggw6z
https://dl.doubtnut.com/l/_agAfjpB15OtR
https://dl.doubtnut.com/l/_JuDoyv13HWFE
https://dl.doubtnut.com/l/_DMZ5NHoKZiRe
https://dl.doubtnut.com/l/_UQOBTp74F6sU


Competition File Jee Main

7. Find the term independent of x in the expression 

Watch Video Solution

(x − )
141

x

8. Evaluate 

Watch Video Solution

10C1 + 10C2 + 10C3 + ……… + 10C10

9. Evaluate 

Watch Video Solution

n

∑
r=1

nCr2
r

10. What is  in 

Watch Video Solution

C0 + C1 + …………. . + Cn (1 + x)n

https://dl.doubtnut.com/l/_6wrEj5o7le9k
https://dl.doubtnut.com/l/_1MBL6oRM5cuI
https://dl.doubtnut.com/l/_8yg5COE0q3FF
https://dl.doubtnut.com/l/_6ExRjDQgSvIR


1. The remainder left out when 
is divided by 9 is

A. 0

B. 2

C. 7

D. 8

Answer: b

Watch Video Solution

82n(62)2n+1

2. The coefficient of  in the expansion of  is :

A. 144

B. 

C. 

D. 132

x7 (1 − x − x2 + x3)
6

−132

−144

https://dl.doubtnut.com/l/_kM2prJ6kiZE8
https://dl.doubtnut.com/l/_F1bGlCaT3O2y


Answer: C

Watch Video Solution

3. If n is a positive integer, then 
is

A. an irrational number

B. an odd positive integer

C. an even positive integer

D. a rational number other than positive integers

Answer: a

Watch Video Solution

(√3 + 1)
2n

− (√3 − 1)
2n

4. The coefficient of the term independent of x in the 

expansion of ( − )
10

x + 1

x2 / 3 − x1 / 3 + 1

x − 1

x − x1 / 2

https://dl.doubtnut.com/l/_F1bGlCaT3O2y
https://dl.doubtnut.com/l/_ShQlxbXp3p3y
https://dl.doubtnut.com/l/_GbdD8HDtnazd


A. 120

B. 210

C. 310

D. 4

Answer: b

Watch Video Solution

5. If the coefficients of 
 and 
 in the
 expansion of 


 in powers of x are both zero, then (a, b) is

equal to

A. 

B. 

C. 

D. 

x3 x4

(1 + ax + bx2)(1 − 2x)18

(14, )
251

3

(14, )
272
3

(16, )
272
3

(16, )
251

3

https://dl.doubtnut.com/l/_GbdD8HDtnazd
https://dl.doubtnut.com/l/_9qTYNYjhdDg6


Answer: c

Watch Video Solution

6. The
 sum of coefficients of integral powers of x in the binomial

expansion of 
is:

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

(1 − 2√x)
50

(350 + 1)
1

2

(350)
1

2

(350 − 1)
1

2

(250 + 1)
1

2

7. If the number of terms in the expansion of 

is 28, then the sum of the coefficients of
all the terms in this expansion, is

(1 − + )
n

, x ≠ 0,
2

x

4

x2

https://dl.doubtnut.com/l/_9qTYNYjhdDg6
https://dl.doubtnut.com/l/_xCg6DLzh4Mdb
https://dl.doubtnut.com/l/_Zyd42Kuf5Uw5


:
(1) 64
(2) 2187
(3) 243
(4) 729

A. 2187

B. 243

C. 729

D. 64

Answer: c

Watch Video Solution

8. The value of

 is

A. 

B. 

C. 

D. 

( ^ 21C1 −10 C1) + ( ^ 21C2 −10 C2) + .... + ( ^ 21C10 −10 C10)

221 − 210

220 − 29

220 − 210

221 − 211

https://dl.doubtnut.com/l/_Zyd42Kuf5Uw5
https://dl.doubtnut.com/l/_QpfdBCcUIb3S


Answer: c

Watch Video Solution

9. The sum of the coefficients of all odd degree terms in the expansion of

 is :

A. 

B. 

C. 0

D. 2

Answer: d

Watch Video Solution

(x + √x3 − 1)
5
+ (x − √x3 − 1)

5
, (x > 1)

−1

1

https://dl.doubtnut.com/l/_QpfdBCcUIb3S
https://dl.doubtnut.com/l/_3LCOZPxfQA7c


10. The ratio of the 5th term from the beginning to the 5th term from the

end in the binominal expanison of  is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

⎛
⎜
⎝
2 +

⎞
⎟
⎠

1
3

1

2
( 3 ) 1

3

1.4(16)
1
3

1: 2
(6)1

3

2(36) : 1
1
3

4(36) : 1
1
3

11. In the expansion at  if  then value of x is

A. 

B. 

C. 

( + xloge x)
62

x
T4 = 20 × 87

81 / 2

82

83

https://dl.doubtnut.com/l/_tAeccZFt14XN
https://dl.doubtnut.com/l/_0mar6KqcNbSU


D. 

Answer: b

Watch Video Solution

84

https://dl.doubtnut.com/l/_0mar6KqcNbSU

